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X 4 PEILT 2 imifE | A% O & I i 2
EOEMHX 26 | # 0.26 half —  ha|HIXOEEIL 1
BOEMHMX 28 | £ 0.25 ha|f —  ha|[HXDOFEIE 1
EBOEIHX 29 [# 0.07 ha|# 0.12 ha 2
fEARATHIX 1 2 #)0.11 ha|#f 0.12 ha 3
JEHPRTHIX 1 3 #)0.25 ha|# 1.40 ha 4
ST HIX 5 ) 0.05 ha|# 0.12 ha 4
WA FETH#X 37 | % 0.03 ha|#9 0.95 ha 5
RERTHIX 6 #)0.20 ha|# 0.10 ha 6
SRR HEX 4 % 0.30 hal# 0.26 ha %g}ggi}?ﬁﬁg%%fggﬁgﬁgﬁm 7
FAHT HE X 3 #)0.07 ha|#& —  ha |[HUIXKDBEIL 8
FIATHIX 2 7 ¥ 0.15 ha|#f 0.16 ha 9
SF HHETHIX 1 % 0.06 ha|# 0.21 ha 10
FEERTHX 7 % 0.24 hal# 0.36 ha %g}ggé}?ﬁﬁgtfgﬁgﬁgﬁm 11
PNHRETHIX 1 2 #)0.15 ha|#& —  ha |[HUIXDBEIL 12

ARt (14HX) #2.19  ha
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